5) Organisms respond to their external and internal environment.

Heterotroph/Consumer: Eats another organism for energy

Homeostasis: Responding to a change in the internal environment to maintain balance i
Ex: sweating when your body is hot

8) Population of organisms adapt to their environment over time.

nside an organism.

Organisms must possess ALL of the characteristics of life.._but they do NOT have to have them all at the same time.
(Babies don't have the ability to reproduce but they are still alive)

Review Questions: True/False (correct any false statements)
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8) Cells are the basic unit of structure for all living organisms. E\A

g) There are nonliving things that have some but not all of the characteristics of living organi (/-\AQ_
. _ isms. |RM L.
10) Al living organisms must possess all of the characteristics of life at the

same time.
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Dependent variable: what you are measuring in both the control and experimental groups

Babies cany Cepmduce bk

INOEPeNnaent varianie: WNat TNe EXpPErnmss~:

Control group: A comparison group in which you do not change the independent variable but collect a
the dependent variable.

Experimental group: The group in which you change the independent variable and collect data on the
dependent variable

Constants/controlled variables: The other parts of the experi

so that they do not cause a change in the dependent variable.
experiment so you have

ment that you keep the same through each

(These are not listed in the description of tf
to come up with these from your background knowledge)

Sample Question:

A scientist wants to test spraying different amounts of the hormone ethylene to freshly picked ap

ples to se
the hormones decrease the amount of time it takes the apples to ripen.

Independent Variable: amount of hormone ethylene

Dependent Variable: the time it takes the apples to ripen

Experimental group: Apples sprayed with different amounts of hormone

Control group: Apples that haven’t been sprayed with hormone

Mﬂmllfem&aﬁ%; Type of apple, number of apples in each group, temperature and humidity of
apple storage, container in which the apples are stored.

Review Questions:

11) A scientist wants to see if using hot pepper spra will decrease the number of insects on a tomato plant.
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from each surface before an 1 Sink 1 i - f
nles sampl T eacH surface Herord SRt = o PSS
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sample to a culture medium. The students & < = A
- counted the number of bacterial colonies that 2 Sink 2 = .
grew on each culture medium. The results of -
their test are shown in the table.
hich of these would be the best control for their experiment?
A. Use only Cleanser 1 on both sinks and counters.
B. Use Cleanser 1 on the sinks and Cleanser 2 on the counters.
C. Test the number of bacteria on the counters and sinks after scrubbing without using cleansers.
D. rest the number of bacteria on the counters and sinks without scrubbing with cleansers,
HEART RATE DURING EXERCISE
14. Look at the chart to the right. || |Heart Ra ¢ (bpm?)
What is the independent variable? ‘ ) U, 0 | "
A of Mia of - il !
; 1
Xercise 2 L
What is the dependent variable? 38
3 87 100 112 112 130
Heart Rt a 93 109 115 120 122
3
What is missing in this experimental setup? Average Zg ;’3 L. 112 12
2 9 107 114 118
Cof\‘\‘f'l" é\roup - Htal} ?‘{t‘ *bpm = beats per minute
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18\)U rbanization: Based on the lessons from the past two weeks, identify the major problems that have
/agricultural land into streets, sidewalks and building. How have these changes
creeks, rivers) in Montgomery County?
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Oak Tree, seed ea
inbow trout, frogs, fresh
grove Tree,
grasses, marsh birds

Alligators, Man
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19) Use
Your notes from
. your packet t ] ,
by changed in salt levels? 0 determine which ecosystems/organisms would be the most effected
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20) What is osmosis?
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21) Which way does water move when a cell from a fresh water plant is placed into a very salty solution?
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